oR
o
g
NI

F-40

=2 VNV =18/ ULD

EwLoTE JSVIEAMYTINILT

FU®E 8~80

TRAE(TAR

REEAES 21MPa
RTUWRERES 31.5MPa
MEREES 42MPa

A 1. 730V JIS B 2291 (21MPa)SSAFEICIRUE T,
2. 905 A )VIFEHEIEROBAE BTV Y/ UHFD-421 1" E1EDE Y,
3. &EEAEHS30MPa (IFUE32LLT). 26MPa (IFUR40L L) CEADBA(.
EFIVFVICHFZ-421 1" 2 SRELEE W,
4. 1= b )(RVOREIC/\Y BILZHT EEE ) (RIVIN T Y M(F T2 3Y)
TULIZ)RIVICES T D ZEDTEX T,

JISHENEES

<

HF-4211-8~20-23
w B AR

[ &M DD
7S 7w |1 Lol el s lolala lo2mLt | |k|P
o= FOTE
HT-4211- 823|125| 80]122] 9 | 22 |143| 8| 54| 36 |M10X35| 8 | 21 | 45 | 60
] M, HT-4211-1023[125| 80]122]125] 28 [178] 9| 54|36 [M10x35] 8 |21 | 45| 60
e (2

N
K
f %@%
'/
OB

SHIH

=

||| |

2/

HT-4211-15-23|16 | 90|132|16 | 32 [222| 11 |54 | 36 [M10X35 21 |52 | 60
HT-4211-20-23|20 |100|142]20 | 38 |27.7| 12| 58 | 40 IM10X 35 21|60 | 65
e
EFIFVIN [ REmIxsa
N

OUVINUES |,
W | H|n| c | (ISB2401) f;
126A|126B| 126C|126D)|

80]136|74]30 |625(625)P10 [P21| 37
80]136]74]30 |625]Ge5[p10 [p1| 37
100[162|84]30 |625|530|P125/625] 42
120[181]97|32.5]630]G35/P125625] 54

&) BOREBE TSV ILAEFURI0EE—TY,

[ShyaN

HF-4211- 8-23| 35X40.4 |M32X
HF-4211-10-23| 35X40.4 |M32X
HF-4211-15-23| 41X47.3 |M38X
HF-4211-20-23| 46X53.1 |M40X

O|®|m|m

. pes

[ 50T Bz
1027V b | - [ramno
FO~HE N

Of
D|L|L |D,|E|F|G|A|B

EFILF VN

M,

pad
HF-4211-25-24 |25 |135]189|25 | 45|345|14| 68| 48/M12X45|8|27[41X47.3|M 80X2
HF-4211-32-24 |31.5150|204|31.5] 56(432|16| 76| 56|M12X45]|8|27|50X57.7|M 64X2

1 8

1 8

8

8

HF-4211-40-23 |37.5|160|230|37.5] 63|49.1|18| 92| 65|M16X60 35|54x624|M 76X2
HF-4211-50-23 |47.5|175|245|47.5] 75|61.1/20]100] 73|M16X60 35|67x774|M 902
HF-4211-65-23 |60 |210]298|60 | 95|77.1|22|128] 92|M20X75 44]71x82 |M100x2
HF-4211-80-23 |71 |250(338|71 |[108|90 |25]140] 103|M22X80 44177x889|M116x2

[s3)

U 0UVIHUES P
EFNFUIC by | K| C| L | w([H (JIS B 2401) (k;
) 1264 [ 1268 | 126C [ 126D | 126E

HF-4211-2524| 75| 90| 38 | 9 |120]191|G35 | P25 |G 45|P125/ G625 | 10.1
HF-4211-32-24 | 85| 95| 43 | 10 |140|214| G40 | P32 |G 60|P16 | G35 | 124
HF-4211-4023| 95|115| 60 | 13 [160|229| G50 | P38 |G B0|P16 | G35 |20.0
HF-4211-560-23 | 110|130| 57 | 17 |200|277 | GBO | P48 |G 75|P20 | G40 |27.2
HF-4211-65-23 | 120|150| 70 | 22 |250|324 | G75 | P60 |G 85|P22 | G40 |45.0
HF-4211-80-23 | 140|165| 78 | 27 |300|370| G85 | P71 |G100|P24 | G45 |61.6

SRR - BRIERMEF-428Z2 B0,






